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B.A. (Third Year) Examination, 2017
ECONOMICS
Paper - |
(Quantitative Techniques in Economics)

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(Gre-31)
Answer all questions (50 words each).
All questions carry equal marks.
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PART-B [Marks : 50]
(Ev=-9)
Answer five questions (250 words each). Select one question
from each unit. Ali questions carry equal marks.
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PART-C [Marks : 30]
(@ve-u)
Answer any two questions (300 words each),

All questions carry equal marks.
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PART-A
(gug-37)

UNIT-I
FHE-D)
1. (@)  Define the Secondary Data.
s wHal w1 wRufva
(i)  What is Statistics 7
ufers @ € ?
UNIT-11
S
(iiiy If standard deviation is 5.5 and mean is 107, then
find Coefficient of Varation.

7% A faged 55 & wE W 107 ¥,
faged 1w (C.V) T@ =i

(iv) Give the formula to get Median from Continuous

Series.

g 4ol ¥ wimE W@ W W gE Wl
UNIT-HI
(FFE-111)

(v)  If correlation coefficient (r) is 0.6 and N = 16, then
find the Probable error.
R gE-wEY TF (1) 06 € W N=16 ® |
v fawn §@ S

(vi) Find the correlation coefficient from following
regression equations :

i wimE wdERel § WSy ONE W

Hifsg
x=-3+ 2y
y=8+ 8
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UNIT-IV
FFE-1V)

(vii) Define time series.
FE Aot B R FE)

(vii)) If current year's price aggregate is 4,800 and base
price year's aggregate is 4,400, find the index
number.

Ifz adu el & g 4800 B T MR T FH
el FT A 4400 ® @ oI GEFIE T R
UNIT-V

GFE-V)

(ix) Define Interpolation.
IFaYA @ s i
(x) What is Convenience Sampling ?
gfan e wn #2
PART-B
(gus-v)

UNIT-1

GFE-D

Make difference between primary and secondary data.
s wd Sfas sl § R wifsm)

Make a schedule to know the preferences of consumer in
buying decesion of Scooty.

T R B ¥4 B U9 SUNED ® SfudE 9 R
T SR T
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UNIT-II

(3310

4.  Find the Harmonic mean from following series :

A oot | st aE Wm wf .
X 2 6 10 141 18
F 4 12 20 915

5.  Calculate the mean deviation from median from following
series :

Lk B 2 G O e W 0 S
X112 J13}14 15| 16 | 17| 18] 1920
Fl1 12 417 [10f11|81i4]2]/1
UNIT-1IT
FTE-1II0)
6. Make difference between correlation and regression
analysis.

TEEeY T UAwER faveww § R wifaw

7.  Estimate both the regression equation and find the marks
of a candidate in International Economics, marks in
Statistics is 16 :

Statistics (X) [2 | 6 | 8 11 |13 |13 |14
International
Economics (Y)|8 | 6 10 | 12 |12 |14 | 20
I g gHiien g wifee wE oferE § 16 o
T R e Thendft ® e oy d warw
ft I *fET

e (X) | 2| 6| 8 f11{13][13]14

AL

sdmeE(Y) | 8| 6] w0l12]12]14]20
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UNIT-1V

(TFE-1V)

8.  Discuss on the importance of Index numbers.

ga&isl F "gw W foem wifam

9. Find the trend by the method of moving averages
assuming a five yearly cycle :

=1 9=l | d9ati 9% AFd g 9@ Wi O |

IqAfa A HiNE
Year Index Numbers
() (gaFH)
1 52.7
2 79.2
3 76.3
4 66.0
) 68.6
6 98.8
7 104.7
8 87.2
9 79.3
10 103.6
11 97.3
12 924
13 100
UNIT-V
(FHE-V)

10. Explain the various types of random sampling.

IRfess aad =t fafv= fafiml 1 =men s
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the help of a suitable formula :

11. Interpolate the missing figure of the following table with

TF I9gE gF K werEd § FrAifed dfew O sEM

T H1 FFavH RV
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Year 2009 | 2010 | 2011} 2012 | 2013 | 2014
Index Numbers| 320 300 ? 280 278 250
PART-C
(WUS-W)
UNIT-I
FEE-D)

12. Represent the following data by pie diagram :
Heads Expenditure
Agriculture 1068
Irrigation 650
Power 1012
Small Industries 264
Transportation 1486
Social Services 1500
Others 264

e ouwl ® uwE o g Fregm s
e wF =T
Ffy 1068
o= 650
F 1012
oY I 264
EIGIEIG | 1486
gfes dand 1500
e 264




UNIT-1I

(g0
13. Find the mode from following series, by grouping method :
Marks (less than) [ 10 | 20 | 30 [ 40 | SO [60 | 70
No. of Students 2 | 13§33 16389 |99 |!100
e W g fre geft d sges 99 &I
&% (4 F1) 10| 20| 30| 40 | 50 | 60 ] 70
forenfeiat = wem |2 | 13| 33| 63 |89 99 [100
UNIT-III
(FT-11D)
14. From the following data calculate the rank correlation
coefficient :
= woE 9 ®iiZ gE-Fay e FE R
X{22124|27 135121 |20}27 |25]27}23
Y |30 |38]40 |50 |38 )25 38 |36]41]32
UNIT-IV
(FHE-1V)
15. From following data calculate Laspeyre's and Paasche's
index numbers :
2015 2016
Goods Price Quantity | Price Quantity
A 12 100 20 120
B 4 200 4 240
C 8 120 12 150
D 20 60 24 50
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= awl & TR W W W gEEE 9| S

2015 2016

T Faa LIEL EaLn] =t

A 12 100 20 120

B 4 200 4 240

C 8 120 12 150

D 20 60 24 50
UNIT-V
(FHFE-V)

16. Given below are the figures of population of a district for
different years. Find the population for 2002 by Newton's

method :
Year 1990 | 1995 | 2000 | 2005 | 2010
Population (lacs) | 7 9 6 14 16

™ et #t s avl ) wwen @ w® 4 =
fafuy g 2002 1 wwEm T T .

Y 1990 1995 | 2000 | 2005 | 2010
TG 7 9 6 14 16
Gilick)
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